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(Answer any all questions. Each carries five marks).

. State and prove Bayes Theoren.

A and B are two weak slsudentﬁ of statistics and their ch

; statistics :-orrectly are 3 and L respectively. fhe probabils
error is o and they c:brtam the same answer, find the prob: izih‘ty that th

that out of four balls transferred 3 are white and 1 is black?

Marie is getting married tomorrow, at an outdoor ceremony. desert. I
has

' it has rained only b days each year, Unfortunately, the weatherman
for tomorrow. When it actually rains, the weatherman has predicted correctly forecast

rain 90% of the time. When it doesn’t rain, he incorrectly forecast rain 10% of the time.
What is the probability that it will rain on the day of Marie's wedding?
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SECTION-A
(Answer any 3 questions. Each carries four marks).

a) A deck of cards has 52 cards. 13 of each snit, What is the probability of drawing a red
card given that the card drawn ig a {ace card?

bl A bag contains 7 red balls and & blue balls.
replaced. What is the probability that the ball dravwn is red,

A ball is drawn [from the bag and then
given that the previous ball

drawn was blue?
Explain pairwise and mutual independence of 1 events. What is the fotal number’ of
conditions for the mutual independence of n events. If n events are pairwise independent

then can we say anything about their mutual independence.

If A and B are independent events then show that
1) Aand B 2) A and 2 are independent,

A problem in HTiHi‘s'fif"' is piven to thrce students A, B and € whose chances of solving

it are . 7 and } respectively. What is the probability that the problem will be solved if
all of them try independently.

SECTION-3
(Answer any 3 questions. Fach carries St marks)

State and prove Bayes™ Theorem.

There are two bags A and 5. A containg n white and 2 black balls and B contains 2
white and n black balls. Oue of the two bags is selected at random and two balls are
drawn from it without replacenient. If both the balls drawn are white and the probability

that the bar A was tsed 1o draw the balls s [-' fmd the valie of 1.

I'he joint probability function of a two dimensional discrete random variable is given

below:
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1)Find the Marginal distribution of X and Y.

2) Are X and Y independent? _
3) Find the conditional probability funetion of X given ¥ = L

I'wo dimensional diserete random variables X and Y have the joint probability function
1,2 y= 1,23 :

1)Find the Marginal distribution of X aﬂd ¥,
2) Are X and Y independent?

3) Find the wnﬂ:tieaml ;tm abilit












